7171224 7l2At Ald=A|

Jl=At A 92 3 AH 1 RAl (AIEAIZE 100 £)
= A4 +¥ o
o}z{ 1} AT -

¥ CF2 &4 S 10 2A1E Mdelisto] dHSIA|2., (Z4H104)
1. RDF(Refuse Derived Fuel)

2. Fool Proof

w
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IAQFHASII JHA| (Gas safety effect assessment system)
4. XY S (Heat transfer rate) 2t XM =2 (Thermal conductivity)

5. 222X = Y2 (lodoform reaction)

:

6. QA =234 O/ 23t A| = (EERS)
7. A|HIEIO| E (Cementite)

8. 12| m2|E|(Grid Parity)

10. Hardy-cross 7|
11. 230} EAAE(UT)
12. 8=35}=H(SF.)

13. ASIMRIIA(LPG) 87|12 WAIM| TajA 2 dH|7|E
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